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" The course of development of children is :
(1) Uniform and orderly
(2) Uniform and disorderly

(3) Individualistic and sequential

(4) Individualistic and disorderly
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[Question ID = 1][Question Description = S20_CDP_Q001]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2)
Theorists now prefer to refer to certain periods as “sensitive periods’ rather than “critical
periods” in recognition that :
(1) Development is dynamic in nature

(2) Development is determined by heredity only
(3) Development is determined by environment only
(4)  Development is fixed and static
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[Question ID = 2][Question Description = S$20_CDP_Q002]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



3)
Naresh and Mukesh are in the same age group yet they show differences in social and
cognitive development. It is due to which of the following ?
(1) Cephalocaudal Principle
(2) Proximodistal Principle
(3) Principle of Individual differences
(4) Principle of Uniformity

T SR hW SY H S S E, Al Gl o WS 9 St fas H ST © | e fRe
fagia & R0 22
(1) Teerr o1 wdemer fagia

(2) fawm =1 gHuimE fagia
(3) Al fa=rensdi =1 fagia
(4) wHEYl 1 forgid

[Question ID = 3][Question Description = S20_CDP_Q003]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4)
Assertion (A) : Delay in achievement of developmental milestone by children can be
directly attributed to heredity.
Reason (R) : Environmental factors do not play any role in development.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) Both (A) and (R) are false.
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[Question ID = 4][Question Description = $20_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

5 0 s ; :
) Socialisation of children is :

(1) A simple and linear process.
2

(2)
(3) Is a complex and multidimensional process.
(4)

An orderly and well laid out process

A fixed and static process
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1[Q:1?;tign Ill; =157:;[Question Description = S20_CDP_Q005]

2. 2 [Option ID = 18]

3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6)

At which stage of cognitive development do children develop the abilities of inference
and abstract logic ?

(1) Sensori-motor

(2) Pre-operational
(3) Concrete operational
(4) Formal operational
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1[Q:n[e;tic_>n I|I[)> =zfﬂ[Question Description = S20_CDP_Q006]
2. 2 [Option Ip - 22]

3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)

In Jean Piaget's theory is said to occur when the child modifies the existing
schemas to account for a new experience,

(1) Accommodation

(2) Organization

(3) Metacognition

(4) Scaffolding
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[Question ID = 7][Question Description = S20_CDP_Q007]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]
8)

In Jean Piaget's theory, egocentricism refers to :

(1)  the ability to consider more than one aspect of the situation at a time.

2)  the tendency to organize thinking processes into psychological structures.

3) the use of existing schemas to make sense of the world.,

4)  the tendency to see the world and the experiences of others from one’s own viewpoint.

(
(
(
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[Question ID = 8][Question Description = S20_CDP_Q008]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9)
As per Lev Vygotsky, plays a very important role in cognitive development.
(1) conditioning
(2) reinforcement
(3) cultural context
(4) schema
g SARTCHhT & TN, &l HMATeash T § "yl AreH 21
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(4) ®hHE

[Question ID = 9][Question Description = S20_CDP_Q009]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

%" A classroom built on Vygotskian principles would promote :

(1)  recitation and recall.

(2)  collaborative learning.
(3)  use of rewards and punishment.
(4) conditioning of responses.
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[Question ID = 10][Question Description = S20_CDP_Q010]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]

3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)

How many stages of moral development does Lawhrence Kohlberg propose in his
theory ?

(1) 6
2) 7
(3) 5
(4) 4

TN ieeer| 4 oA fagia ° Afqes fasm & faan =ror gfaofea for €2

(1) 6
(2 7
3) 5
(4) 4

[Question ID = 11][Question Description = S20_CDP_Q011]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)
At which stage of Kohlberg's moral development do individuals believe that fixed rules
must be obeyed in order to maintain the social order ?
(1)  Instrumental purpose orientation

(2) Punishment and obedience orientation
(3) Law and order orientation
(4) Good boy-good girl orientation
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[Question ID = 12][Question Description = S20_CDP_Q012]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13)
Dancers, athletes and actors possess high as per Howard Gardner’s theory.
(1) Spatial intelligence

(2) Linguistic intelligence
(3) Bodily-Kinaesthetic intelligence
(4)

4) Intrapersonal intelligence
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[Question ID = 13][Question Description = S20_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14)

A teacher’s remark to boys in a co-education class - “Be a man and don’t behave like girls’
would encourage :

(1) Gender equity

(2) Gender stereotyping

(3) Gender role flexibility

(4)

4 Gender equality
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[Question ID = 14][Question Description = S20_CDP_Q014]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15 " ; _ : :
) Which of the fo]lowmg statements about assessment of children is correct ?

(1) Primary purpose of assessment is comparison.

(2) Primary purpose of assessment is to generate anxiety and fear.
(3) Assessment should be carried outusing a variety of means.

(4) Assessment should not include self- assessment by children.

=] o TR & a1 § frefaiad § § e | wET 98 87

(1) i % Wfhe 35299 qar ¢
(2) SAeher 1 WigTHeE Seavd o SN 94 3= il 1
(3) Hedisw fafvy= |l =1 SuRRT ek fRa ST =R |

(4) YEHEA H aE= QA W-gedis iHet 78l g =i

[Question ID = 15][Question Description = S20_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

12 Which of the following do NOT follow the spirit of inclusive education ?

(1)  Differentiated instruction

(2) Universal design for Learning
(3) Labelling and Segregation

(4) Collaborative learning
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[Question ID = 16][Question Description = S20_CDP_Q016]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17)

In a class with students having students from disadvantaged backgrounds whose
experiences should a teacher allow to be shared ?

(1) Discourage everyone from bringing their experiences to the class.
(2)

(3) Encourage only children from disadvantaged groups to share their experiences.
(4) Share her own experiences and encourage all children to share their experiences.

Encourage only children from dominant groups to share their experiences,
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[Question ID = 17][Question Description = S20_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

P2

18)



In order to accommodate a student with locomotor disabilites schools should facilitate
access and barrier free environment that includes provisions such as :

(i)  Wheel chairs

(i) Walker

(iii) Ramps with hand-rails
(iv) Embossed tiles

(v)  Braille systems

(1) (@), (@), (i)

(2) ) (i), (iv)

(3)  (#), (i), (iv)

4) (@) (@), (@), (), (v)
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(iii) F=—¥ % WA
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(1) (), (i), (i)

(2) (), (i), (iv)

(3)  (ii), (iii), (iv)

(4) (D) (i, (i), (iv), (v)

[Question ID = 18][Question Description = S20_CDP_Q018]
1. 1 [Option ID = 69]
2. 2 [Option ID =70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19)

Which of the following are typical identifying characteristics of student with learning
disability ?

(1) Omits words or lines in readings; makes mistakes in spellings

(2) Cannot see things after a distance of 2 feet

(3) Perform the same motor action repeatedly
(4)

4 Cannot hear sounds of 70 dB
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[Question ID = 19][Question Description = S20_CDP_Q019]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

3

20)
Which of the following statements about gifted children is correct ?
(1)  Gifted children do not require any pedagogical modifications.

2)  Gifted children should be given very simple routine tasks to be performed repeatedly.
3) Gifted children have very high emotional maturity.
4)  Gifted children have specific learning needs that often get ignored in the classrooms.

(
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[Question ID = 20][Question Description = S20_CDP_Q020]
1. 1 [Option ID = 77]

2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

) Active engagement of students in a middle classroom should be promoted by :

(1) Offering positive and negative reinforcement
(2) Passive listening

(3) Reinforcing competition

(4) The processes of enquiry and questioning
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[Question ID = 21][Question Description = S20_CDP_Q021]

1. 1 [Option ID = 81]

2. 2 [Option ID = 82]

3. 3 [Option ID = 83]

4. 4 [Option ID = 84]

22)

Assertion (A) : Pedagogical processes of dialogue and discussion amongst peers hinders
development of problem-solving abilities,

Reason (R) : Learning is a process that is individualistic in nature and not social in
character.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 22][Question Description = $20_CDP_Q022]
2. 2 option D - 86

3. 3 [Option ID = 87]
4. 4 [Option ID = 88]



23) What kind of goals should a teacher encourage her students to set ?
&0 &

(1) Mastery-oriented

(2) Performance oriented
(3) Failure accepting
(4) Failure avoiding
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[Question ID = 23][Question Description = S20_CDP_Q023]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24)

One’s beliefs have an important influence on one’s learning. Which belief would have a
positive influence on learning ?

(1) Iam not born with any abilities

(2) Teachers always make difficult question papers

(3) Getting good or bad marks depends on your efforts

(4) Thave never got good marks in geography and I never will even if I try.
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1[Q:n[e;tic_>n |||[J) =923‘]1][Question Description = $20_CDP_Q024]

2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25)



Constructivism as a theory :

(1) Emphasises the role of the learner in constructing his own view of the world
(2) Emphasises on memorising information and testing through recall

(3) Emphasises on the dominant role of the teacher
(4)

4)  Focuses on the role of passive imitation in learning

RECEIEIAC AR AL
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[Question ID = 25][Question Description = S20_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

*®) Children construct further knowledge on the basis of :
(1) what is irrelevant for them.

(2) what is already understood by them.

(3) what is completely alien to them.

(4)

4 what is much beyond their cognitive levels.
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[Question ID = 26][Question Description = S20_CDP_Q026]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]
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27 3 . 2 5 . ¢
) Which of the following statements about cognition and emotions is correct ?

(1) Cognition and emotions are processes independent of each other

(2) Cognition and emotions are intertwined and affect each other
(3) Cognition affects emotions but emotions do not affect cognition
(4) Emotions affects cognition but cognition does not affect emotions

M 9 Tl o 9 I Gl e § 2
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1[Q:n[a;tic_>n III; =1f)§]][Question Description = $20_CDP_Q027]
2. 2 [Option ID - 106]

3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28 Meaningful learning of students is NOT promoted by encouraging children for :

(1) Exploration and experimentation

(2) Developing Metacognitive capabilities
(3) Discussion and debate
(4)

4) Passive listening
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[Question ID = 28][Question Description = S20_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID =110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29)



A constructivist approach for dealing with ‘misconceptions * among middle school students
is :

(1) to completely ignore them.

(2) to assign lot of content for passive memorization.

(3) to punish the students.

(4) give opportunities for discussing counter perspectives.

ferenfel=i gro ffda wf=aai o6t Froes & fore wermeres gfteeTor o game &1 2 2
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[Question ID = 29][Question Description = S20_CDP_Q029]
1. 1 [Option ID = 113]

2. 2 [Option ID = 114]

3. 3 [Option ID = 115]

4. 4 [Option ID = 116]

30)

Assertion (A) : Schools should not involve parents in any manner in education of their
children.

Reason (R) : Establishing links of the school with the community hinders meaningful
learning for students.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

WU (A) : el 1 T fyan w1 frdt oft a9 TR = e § wnfie @ s =nfea
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[Question ID = 30][Question Description = S20_CDP_Q030]
1. 1 [Option ID = 117]



2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- SS_P2_CTET

" The term Prathama- Kulika in the Gupta period stands for :

(1)  Chief Judicial Officer
(2) Chief Banker

(3) Chief Merchant

(4) Chief Craftsman

T T o 9o et I 1 Y ¥
(1) 9= =+ AR

(2) H=A R

(3) TE S

(4) Hgeu foeusr

[Question ID = 91][Question Description = $20_Social Science_Q031]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]

2)
Where was the birch bark found on which hymns of the Rig Veda were written ?
(1) Kashmir
(2) Maharashtra
(3) Bengal
(4) Bihar

1 s () Bt el 9% E o WosEe w afes weAn () feret 2
(1)  FHR
(2) Helg
(3) =M
(4) forw

[Question ID = 92][Question Description = S20_Social Science_Q032]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

3)



Which one of the following Tamil works informs us about the lives of ordinary men and
women ?

(1) Silappathikaram

(2) Valayapathi
(3) Manimegalai
(4) Periyapuranam

Frefafea 5 9 & o afbe Hfa g9 o1 qeui iR Aieensii & sied & a1 # gied s €2
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1[.Q:J([e;':’itci); |||[)) ==3‘23]][Question Description = S20_Social Science_Q033]
2. 2 [Option ID - 370]

3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

? Which of the following is not matched correctly ?
(1) Khajuraho - Chandellas
(2) Aihole - Chalukyas
(3) Kanchipuram - Pallavas
(4) Mahabalipuram - Cholas
Trefafad | #hid 7o T2l @1 @18 7
(1) G - e
(2) TR - A

(3)  RIHIGEH - e
(4)  HEwEE - =i

[Question ID = 94][Question Description = S20_Social Science_Q034]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]



*) Consider the following statements :
(I)  Tawarikh was written by learned men in Urdu
(IT) The writer of Tawarikh used to live in urban areas
(III) They often wrote their histories for Sultans in the hope of rich rewards
Which of the statement(s) is/are correct ?
(1) Both (I) and (II)
(2) Both (II) and (III)
(3) Both (I) and (III)
(4 Only (1

Trefafad e o2 faar i

() warE =l gt s g/ 3 o foran =0 o)

(II) TR % s T H T 9

() < 9: 379 3fagr™ gedri o fore, 3749 @ 91X J3EhR O =i 2790 H foran =i 91
I | HYA T B2 2

(1) ([ R (1) T

(2) (1) 37 (1) S

(3) (D) S () =

(4) A ()

[Question ID = 95][Question Description = S20_Social Science_Q035]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

®) Which one of the following compositions are not compiled by Surdas ?

(1)  Sursagar

(2) Surasaravali
(3) Sahitya Ratna
(4) Sahitya Lahari

friferfiad § & 9 O T g R S T 2



[Question ID = 96][Question Description = S20_Social Science_Q036]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

7)
Consider the following statements (A) and (R) and choose the correct answer.

Assertion (A) : Through the 18th century, the Mughal empire gradually fragmented into
a number of independent regional states.

Reason (R) : With the decline of the Mughal emperers, the governers of large provinces,
subadars and the great zamindars consolidated their authority in
different parts of the Indian sub continent.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false

(4) Both (A) and (R) are false

Treferfad e o R T fa=m 1 921 e fawey 97 |

HYT (A) ;187 VAEE F AW, G GESA - e e, & T o feret

HROT(R) : T WHRI %l §dl & 909 & 919, T8 Widl & Goer! R a8 SHIER! 7 WRdE
SYHRTEY o fafus fewdi & erot wif @R waer e et

ﬂﬁrﬁmﬂe{

(1) (A) &R (R) <1 98 T &R (R) T SR 31 € (A) FT

(2) (A) @R (R) SHT @& & afr (R) T&t =amen =& 4 ? (A) F

(3) (A) Hel g &ifeh (R) 7Terd 2|

(4) (A) 3 (R) S TEd 1

1[Q:u[e;;1t?;] |||3 ==39SZ]][Question Description = S20_Social Science_Q037]

2. 2 [Option ID = 386]

3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

8) In which region landowners were known as Vellalars ?

(I) Maharashtra region
(2) Tamil region

(3) Punjab region

(4) Bengal region



forg &3 o syt =i Joar el ST o ?

(1) TR &
(2) dfbe &
(3) HSIE &
(4) S A

[Question ID = 98][Question Description = S20_Social Science_Q038]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

9)
Read the statements (A) and (B) and choose the correct answer :

A) People such as Raja Ram Mohun Roy are described as reformers because they felt
P J Y L4
that changes were necessary in society.

(B) The reformers thought that the best way to ensure such changes was by persuading
people to give up old practices and adopt a new way of life.

(1)  (A) is true but (B) is false
(2) (A)is false but (B) is true
(3) Both (A) & (B) are true
(4) Both (A) & (B) are false

FHEA (A) T (B) I I TS Hal I 1 FAE B

(A) : ST UHHRA U4 S @ ol YHRe HGT el Sl € i d 9 9 TR wee o
ufteds @1 S STy GR-aER § PeRR U el € |

(B) : WU I fo=r o1 T 36 98 & uitead= @M & foru «r o1 39 & & forg 9fa
feRall ST =R foh & QU HE8R ol SRt Siia o1 741 291 79 & ford o7 & |

(1) (A) 5 & foq (B) e |
(2) (A) oW § fReg (B) W@
(3) T (A) TE (B) HEI T

(4) Bl (A) TH (B) T

[Question ID = 99][Question Description = S20_Social Science_Q039]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]



" Veda Samaj established in the erstwhile Madras (Chennai) was inspired by :

(1) Prarthana Samaj
(2) Arya Samaj

(3) Brahmo Samaj
(4)

4 Young Bengal Movement

& " (SE7E) H T 98 |HS Ui o

(1) Sref=1 99 g/

(2) SATHHES

(3) SEEHTS g

(4) I ST FiSie gNI
[Question ID = 100][Question Description = $20_Social Science_Q040]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]

3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

11)
Read the following statements (A) and (R) and choose the appropriate option.

Assertion (A) : E.V. Ramaswamy Naicker or Periyar was critical of Hindu scriptures
such as Codes of Manu, Bhagavad Gita and the Ramayana

Reason (R) : Periyar viewed that these texts were used to establish authority of upper
castes over lower castes and domination of men over women

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false



Taeferfad el (A) 9201 (R) 1 92T SR 394 fasheq &1 =a7 Sife -

WYT (A) ;L. e TEER SR URER wY wied, s Wiar SR THE S g
FreAr=h o |

RN (R) :  URER T <@ fF 3 vy fre wnfadl & o o= snfeei oi wfeensti & <o g
o FEE T # % o 39 ° @ e )

uﬁﬁwgﬁ

(1) (A) 3R (R) 91 5&l § 3iX (A) =1 (R) Hel SAMEA 18 |

(2) (A) #R (R) SFI & € T (A) & (R) Fel A 721 Fdl ¢ |

(3) (A) TEl & @ (R) Tord 1

4)  (A) 3 (R) T Terd B

[Question ID = 101][Question Description = $20_Social Science_Q041]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

12)
Which Governor General pronounced that Bahadur Shah Zafar would be the last Mughal
king ?
(1) Canning

(2) Dalhousie
(3) Hardinge
(4] Elgin

Tohg TTeL STRel A HY i 97 foh SIRIgL WIE SR Sfan qier TS el ?

(1)
(2) SeRrsi
(3) @fen

(4) TS (Elgin)

[Question ID = 102][Question Description = S20_Social Science_Q042]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]



13) In which of the following languages ‘Kesari’ newspaper was published ?

(1) English
(2) Bengali
(3) Marathi
(4) Urdu

frefafea 5 9 foog v § Sad’ eTEer =94 o1 ?

(1) st
(2) e
(3) WSl

(4) =g

[Question ID = 103][Question Description = S20_Social Science_Q043]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

14)

From which of the following Acts, a large number of provisions have been adopted by the
Indian Constitution ?

(1) 1909 Act

(2) 1919 Act

(3) 1935 Act
)

(4) India Independence Act 1947

Frafafas & 9 g we 9 v S g e e § geyE foo g2
(1) 1909 T

(2) 1919 THE

(3) 1935 WHE

(4) NG @l stufag - 1947

[Question ID = 104][Question Description = $20_Social Science_Q044]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]



15)

Which of the following is not matched correctly?

Planet No. of moons
(1) Mars 02
(2) Jupiter 53
(3) Uranus 52
(4) Neptune 15
e F =i @ givfera =2 € 2
TE TGl Rl [T
(1) e - 02
(2) g8=fa - 53
(3 TWW - 52
(4) = - 13

[Question ID = 105][Question Description = $20_Social Science_Q045]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

16)

Read the following statements (A) and (R) and choose the appropriate option given
below :

Assertion (A) : The areas lying between the Arctic Circle and the North Pole are very

cold.

Reason (R) : The sun rays are always slanting and provide less heat.

Choose the correct option.

(1)
(2)
(3)
(4)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not correct explanation of (A)
(A) is true but (R) is false
(A) is false but (R) is true



Taeferfad shedl (A) 991 (R) &1 9fQU q91 399w faehed =l 997 hifed |
YA (A) : T YT 99 AN ST YF F o= F & § 957 o€ ol 2 |
T (R) : G4 1 ool eden faest arcft € ofn o oo St 21
qﬁﬁ%@ﬂ%

(1) (A) 3K (R) S 5&1 § 3iR (R), (A) 1 ¥&l & 2

(2) (A) R (R) T HE T WAFA (R), (A) i T =HEA T 2|

(3) (A) HE & W (R) 7T B

(4) (A) TEd @ 9% (R) HE B |

[Question ID = 106][Question Description = S20_Social Science_Q046]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

17) : :
Sun rises in the east because :

(1) Earth rotates from east to west
(2) Earth rotates from west to east
(3) Earth is tilted on its axis

(4) Earth rotation takes 24 hours

T4 qd § 399 B © Hifh :

(1) gesft q& & ufeam i SR Fe AR § 1
(2) gt Ufveq & 9E i HR FE @ o
(3) gedt AU 278 YT PRI G5 § |

(4) el = e 24 He T B

[Question ID = 107][Question Description = $20_Social Science_Q047]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

18)

The opening time of Central Government offices in India is 9 : 00 am. IST. What will be
the local time of opening of the Central Government offices located at 76°45" East Longitude
near Chandigarh and 88°15" East Longitude near Kolkatta, respectively ?

(1) 08:37am. and 09 : 37 a.m. respectively
(2)
(3) 09:23 am. and 08 : 37 a.m. respectively
(4)

09 : 37 am. and 08 : 37 a.m. respectively

08 : 37 a.m. and 09 : 23 a.m. respectively



I H 2T RN FHEe & ol % 99T YdiE 9 99 (YRS JFE 999) § 1 S92 % Ul
76°45' . THGT T 2R FHeThdl o TIH 88°15' . TR wHW: W o g WHER & e &
e o T IHF 1 1 2

(1) 08:37 gaig 31 09 : 37 Yz FHI:

(2) 09:37 Ya@ 3R 08 : 37 YAiE A

(3) 09:23 gaiE 31 08 : 37 YaiE A

(4) 08 :37 qalE 3R 09 : 23 Yaig HAI:

[Question ID = 108][Question Description = $20_Social Science_Q048]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

Deccan plateau is bordered by which physical feature in its western side ?
(I) Satpura ranges

(2) Vindhya ranges

(3) Sahyadri

(4) Nilgiris

T USR 9 uivEH YT W e O ifas favva @ JErgen g2

(1) HageT Aol
(2) Teem goft
(3) wEfg

(4) AR

[Question ID = 109][Question Description = S20_Social Science_Q049]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]



9" Match the following columns and choose the correct option.

Column - I Column - II
(a) Marble (i) Sedimentary rocks
(b) Sandstone (i) Fossils Fuels
() Coal (i) Igneous rocks
(d) Granite (iv) Metamorphic rocks
Options :
(1) (@)-@v), (b)-(1), (¢)-(i), (d)-(1ii)
(2)  (a)-(1), (b)-(iii), (c)-(iv), (d)-()
(3)  (@)-@), (b)-(iv), (o)-(iii), (c)-(ii)
(4)  (a)-(ii), (b)), (c)-(), (d)-(v)
frrerr =Y oTR sfea fomped w1 =3 wifeg )
i - 1 @i - 11
(a) HITETEHL () srEEE de
(b) ST TR (i) SfarH FH
(c) hizred (iii) SFTEEIE
(d) UATEE (iv) HET=<Rd 9
faarea

(1) (@)»-v), (b)-(1), (¢)-(ii), (d)-(iii)
(2)  (a)-(), (b)-(ii), (¢)-(v), (d)-(1)
(3) (@), (b) (IV (C) (1t1), (c)-(i)
(4)  (a)-(iii), (b)-(ii), (c)-(1), (d)-(iv)

[Question ID = 110][Question Description = S20_Social Science_Q050]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]



" Consider the following pairs :

Land Forms Agents
(a) Levees - Wind
(b) Stacks - Sea waves
() Mushroom Rocks - River
(d) Moraines - Glaciars

Which of the following options is correct ?
(1) Only (a) and (b)
(2) Only (b) and ()
(3) Only (b) and (d)
(4) Only (a) and (d)

Trfafad g 9 fa=gr s
©e 'Y U<k

(a) Y - TEd

(b) =& - HEE!

(c) &pfFo| - A

(d) Tedie - fewE

S 7 H B S T e ?
(1) el (a) # (b)
(2) 9 (b) 3 (o)
(3) e (b) SR (d)

(4) ¥a (a) 3 (d)

[Question ID = 111][Question Description = $20_Social Science_Q051]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

22)

The climate of Ladakh is extremely cold and dry. Which of the following factors is
responsible for it ?

(1) Latitude

(2) Altitude

(3) Pressure and winds

(4)

4 Distance from the sea



TR it Serary safe vida o ¥ B 1 e 8 9 e W e g9 fore saerh €2

(1) 37&79

(2) e

(3) @ErE UE He
(4 WEE

[Question ID = 112][Question Description = $20_Social Science_Q052]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]
23)
Read the Statements (A) and (R) and choose the correct option.
Assertion (A) : The air is cold in areas having lower temperature.
Reason (R) : Air is heavy in cold areas.
(1) Both these statements (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both these statements (A) and (R) are true but (R) is not the correct explanation of
(A).
(3) (A)is true (R) is false
(4) Both (A) and (R) are false

Frefafaa swel (A) 9o (R) 1 98 991 98 fased 1 =24 Fife
HIT (A) : FH AUEE T &3 H 9 SS1 A B

WHIUT (R) : 22 &0 § 9 9l &l 8

faerey -

(1) (A) 3% (R) & W&l ¢ 3R (R), (A) %I Hel =AM & |

(2) (A) 3R (R) SFi T § AFT (R), (A) T Tal =0 76 €
(3) (A) ¥& ® 9L (R) T |

(4)  (A) 71 (R) SF Tewd & |

1[Q:J¢[ecs)tit?n |I|; =414 ; ]3][Question Description = $20_Social Science_Q053]
2. 2 [Option Ip - 450]

3. 3 [Option ID = 451]
4. 4 [Option ID = 452]



24 : i .
) Which of the following is not an example of mass media ?

(1) Newspapers

(2) Radio
(3) Cellular phones
(4) Television

Frefafad § & 9 91 SHEgs eIy 1 SR T4 8 2

(1) HH=ER 93
(2) e

(3) HFT BH
(4) EifasH

[Question ID = 114][Question Description = S20_Social Science_Q054]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]

23) Where we do not find Mediterranean type of vegetation ?

(I) Around the Mediterranean sea in Europe, Africa and Asia
(2) California in the United states of America

(3) South West Africa

(4) South East Africa

ORI YRR 1 ST el STl UTe Sl & 7

(1)  Z, %I U8 TRET F JHENR F TH9 9ot geun 5
(2) HI®H A U & HfARIHAT

(3)  afau—afe=dl smhi=

(4)  afao-gEl swRER

[Question ID = 115][Question Description = $20_Social Science_Q055]
1. 1 [Option ID = 457]
2. 2 [Option ID =458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]



® Consider the following resources :

(A) Mica

(B) Forest

(C) Natural Gas

(D) Soil

(E) Water
Which of the above are examples of renewable resource ?
(1) Only (A), (B) & (Q)

(2) Only (B), (O) & (D)
(3) Only (B). (D) & (E)
(4) y (B). (C) & (E)

=1 gareEl T fa=n St

(A) A9

(B) dH

(C) wrpfah i

(D) ¥«

(E) =i

STE § © i Y Wkl SR e SHE % SR € 2
(1) e (A), (B) it (C)
(2) =9 (B), (Q) ¥R (D)
(3) 9 (B), (D) ¥R (E)
(4) % (B), (C) ¥R (E)
1[9:..;;1::; |I|; =416 :]6][Question Description = $20_Social Science_Q056]
2. 2 [Option ID = 462]

3. 3 [Option ID = 463]
4. 4 [Option ID = 464]



) Which factors play a major role in the formation of soil ?

(A) Parent rock

(B) Topography
(C) Climatic factors
(D) Time

(
(.
(3) Only (D)
(4) Only (A) and (C)

Ty & faramAmeT | @i € e 9= it fem €2

(A) Het=gH

(B) TSI

(C) wioiarg Hadl &R
(

D) ®HHY

faerea ;

(1) ad (A)

(2) a (B) T (C)
(3) a (D)

(4) FAA (A) 79 (Q)
[Question ID = 117][Question Description = $20_Social Science_Q057]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]
28)
Debt trap in rural areas mainly illustrates the exploitative relationship between
(1) Moneylenders and small farmers
2

(2)  Small farmers and agricultural labourers
(3) Agricultural landless labourers and village cooperatives
(4)

4 Village cooperatives and moneylenders



S ol S U ZEATRl H e & &i" U YRR e Rl guIidr § 1
(1) HEEhR SR BT foram

(2) Bie foram iR et 9ot

(3) uftdm Gdftgr daeft Asigy siK amho wesfan

(4)  UTHIT HEHIE 3R WEHR

[Question ID = 118][Question Description = $20_Social Science_Q058]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]
29)
Read the statements (A) and (R) and choose the appropriate option.
Assertion (A) : In a democracy, an independent media is important
Reason (R) :  Information available through media should be reliable and not biased

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) Both (A) and (R) are false

Trefafad et (A) 991 (R) =l 9feq 991 399w Tashed &1 954 =ifeg|
afueRe (A) @ Tiees B, TeE SR mrey (Hifean) Jewgul €
THIT (R) : TR qream (Hifean ¥ g ge favassE e afen 71 ff gaage )
(1) (A) 2R (R) S | € G0 (R), (A) 1 TE =08 § |
(2) (A) 3R (R) GFI W&l € il (R), (A) i Fel SReA Tel © |
(3) (A) ¥El & UG (R) T B |
(4) ZH (A) 991 (R) T 2 |
1[Q1L1¢[ecs)tit?n |I|; =417 ; ?][Question Description = S20_Social Science_Q059]
2. 2 [Option ID = 474]

3. 3 [Option ID = 475]
4. 4 [Option ID = 476]



9 In India, the government works at

(A) Ward level

(B) State level

(C) National level

(D) Regional level

Which of the following option is correct ?
(1) (A) & (B)

(2) (B)&(©

3 © &(D)

4 A)&(©

Id H IR F19 HT § |
(A) a8 &R
(B) T &KX
(©) W &R
(D) &5 &R
Treferfad 5 9 S fares v 82
(1) (A) 3 (B)
(2) (B) €T (C)
(3) (C) X (D)
(4) (A) $TR (Q
1[.Q:J([a;;itci); I|I[)> =417 §]0][Question Description = $20_Social Science_Q060]

3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

* Who acts as a panchayat president ?
(I)  The Secretary of the Gram Sabha

(2)  Block Development Officer
(3) Omne ward member elected by other ward members
)

(4) Ward members by rotation



B GG I AR HH FA R ?

(1) U™ 947 k1 Hi=E

(2) e foamm sAfumrl

(3) o oS WeEdl gr =Af (FA1 ) Uk AE WA
(4) aH-9R ¥ € He=

[Question ID = 121][Question Description = $20_Social Science_Q061]

1. 1 [Option ID = 481]

2. 2 [Option ID = 482]

3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

L4

32) What is a labour chowk ?

(1) A place where bonded labour system is praticed

(2) A place where labourers are sold
(3) A place where daily wage labourers assemble in search of work
(4) A place where labourers are given night shelters

“ore iR R ed € 2

(1) U SFT8 5781 STRE i §of yaferd &l

(2) Ul strE ST wsigdl i fersel el @l

(3) Tt e el fewTe! HeTgX M &I ae | $Hgl e ©
(4) Tt SPTE SRl Wl i 19 I8 fom s @

[Question ID = 122][Question Description = S20_Social Science_Q062]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

33)
Read the following statements and choose the correct option.

(A) Weaver's cooperatives are one way to reduce the dependence on the merchant
(B) And to earn a higher income for the merchant

Opﬁons 2

(1) Only (A) is true

(2) Only (B) is true

(3) Both (A) and (B) are true
(4) Both (A) and (B) are false



A W N -

TrefafEad sUal =1 u¢ i 9el foskhed g4
(A) : TTRU HI TEHRI LA AV & T YR F9 F FH TH 6 ©
(B) : 3R AN F e s 1 S

faeea :

(1) e (A) T &

(2) FHEA (B) TE ®

(3) <F (A) 3R (B) TEl &
(4) 2F (A) 3R (B) o @

[Question ID = 123][Question Description = S20_Social Science_Q063]
1 [Option ID = 489]
2 [Option ID = 490]
3 [Option ID = 491]
4 [Option ID = 492]

34)
Read the statements (A) and (R) and choose the appropriate option.
Assertion (A) : No country can be said to be completely democratic.
Reason (R) : Individuals and communities always try to expand the idea of democracy.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) Both (A) and (R) are false

TefafEad el (A) HR (R) I 9fg0 41 3ugw fashed 1 =& it
AR (A) :  TohE! off <9 %1 T TE § SAlhdii=eh el wHal s Hohell |
HIT (R) : = SR HHa™ Had clishas i 77 372 S 1 TAH Hd ¢ |
faereq :

(1) (A) 3R (R) S W&l € 9901 (R), (A) %1 Hel e & |

(2) (A) 3R (R) T 9§ AFFT (R), (A) FI Tel =0 76 €

(3) (A) T& 8 9% (R) T § |

(4) Sl (A) T (R) TeId B |

[Question ID = 124][Question Description = $20_Social Science_Q064]

A WN -

1 [Option ID = 493]
2 [Option ID = 494]
3 [Option ID = 495]
4 [Option ID = 496]



33) Gender inequality needs to be dealt with at :

(1) Family level only

(2) Family, society and government levels
(3) Government level only
(4) Family and society levels
ST AT sl HHIE % T T R S
(1) e 9Er
(2) TURER, FA iR TR
(3) HaA TR

(4) URER AR gors

[Question ID = 125][Question Description = $20_Social Science_Q065]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

%) Which one of the following is NOT a Fundamental Right ?

(1) Right to freedom of religion
2 Right to constitutional remedies

(2)
(3) Right to property
(4)  Availing elementary education

Frefafaa & | s o difas s =8 82
(1) enfHer FEcsal = AR

(2) HaurfeR U= @ SfER

(3)  Huf¥ =1 AR

(4)  WRRF e TR

[Question ID = 126][Question Description = S20_Social Science_Q066]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

37)



The provision of Midday Meal Scheme in schools is extension of which of the fundamental
rights granted to Indian citizens ?

(1) Right to equality

(2) Right to life
(3) Right against exploitation
(4) Right to freedom of religion

Thell § TeAg SioH 1 AR $1 weeE fefatea § @ g TeiER S ard e difs
sfepR = far § 2

(1) HHE 1 ATIHR

(2) SirER @ AR

(3) 9 o fawg s

(4)  enfer Tesen o1 IR

[Question ID = 127][Question Description = $20_Social Science_Q067]

2. 2 Ontion 10 - 506

3. 3 [Option ID = 507]
4. 4 [Option ID = 508]

38)

The phrase ‘Justice delayed is justice denied’ refers to which of the following problems of
the justice system in India ?

(1) Red tapism in bureaucracy

(2) Inordinate delay in completion of trial by judiciary
(3) Long system of appeals going through various levels
(4) Grant of bail to the accused

"TrE | ol AT SHIH 1 st 98 YeEEsl UG i I sEel ¥ g8 fefafed 9 9 el
HHET I M2 ?

(1) e ¥ ArAh el

(2) —ATEEl N YAER WeH & H STea g4 g

(3) 3Tl o ervelt Syeen S Y Wl W S TEE &

(4) ST S SHEG ST

[Question ID = 128][Question Description = $20_Social Science_Q068]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]



** The Forest Rights Act (2006) is a law which recognizes the rights of

(A) Forest Dwellers

(B) Scheduled Tribes

(C) Paper Mill Owners
(D) Animal rights activists

Choose the correct option from the codes given below.

(1) (A) and (D)

(2) Only (A)
(3) (A)and (B)
(4) Only (D)

2006 H @F] g1 99 sifyer sifufrom uw tE EE § S
FA T

(A) SR

(B) erIgfea SHsifd

(C) YwfHe Hfers

(D) SIeR SATHFR FHrEHd

= fou T w2 § @ wE faeneq &1 =g i
(1) (A) ¥R (D)

(2) A (A)

(3) (A) X (B)

(4) A (D)

[Question ID = 129][Question Description = $20_Social Science_Q069]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

40)

o sifeeRrl A1 gifead



Marginalisation is often associated to experiencing which of the following conditions ?
(A) Disadvantage

(B) Discrimination

(C) Equality

(D) Pride

Choose the correct option :

(1) (&) & (B)

(2)  (A), (B) & (O)
(3) (A)&(©
(4)  (A) & (D)

frafafea § 4 frg faf = eqye 3 % @y afvrree gm; defod € 82
(A) @/

(B) HewE

(C) HHMN

(D) ™™

Wl fashey o1 =12 =i

(1) (A) ¥ (B)

(2) (A), (B) ¥R ()

(3) (A) 3 (C)

(4) (A) ¥R (D)

[Question ID = 130][Question Description = $20_Social Science_Q070]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

41)

is not included as one of the topics in social science at the middle level,

(1) Psychology

(2)  Geography

(3) History

(4) Political Science



graifsier fagm o wer faw & w9 § areafs @ w gfferd & &1
(1) FAIfeRm
(2) i
(3) sfae™
(4) USHiTae faam
[Question ID = 131][Question Description = S20_Social Science_Q071]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]

3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

42 . . . .
) Historical studies help in development of

(1) Spiritual domain

(2) Cognitive domain
(3) Psychomotor domain
(4) Economic domain
tfeafaes sreaem & Ty ¥ Heg wd B

(1) eefcder 9% o &R
(2) FHAHF 94 F "N

(3) TAITRATES 98 % W
(4) TR 9 % TR

[Question ID = 132][Question Description = $20_Social Science_Q072]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]
43)
In a geography class, the teacher could help students detect specialized regions by engaging
them in the following,.
(i)  identifying and recording certain characteristic features
(ii)  studying map
(iii) locating information on a map
(iv) using encyclopedia
Options :
(1) (@) (i) and (iv)

i), (i)
i), (ii) and (iii)

@ @
(3) (i), (iii) and (iv)
(4) (i), (iii) and (iv)



T ki et H, foreres fodiftm 450 @61 g & o feenfiEl =01 Frefafaa | dfem w0 % g
3TehT HRIHA L Tl € -

() Fo fafvre faewme I gear i e w0

(i) HETE A wH

(v

faw

(1) (), (i) 3R (iv)
(2) (@), (i) 3R (i)
(3)  (0), (ii) R (iv)
(4) (i), (iii) 9 (iv)

[Question ID = 133][Question Description = $20_Social Science_Q073]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

“ Arrange the following stages of problem solving in order.
(i) Evaluation and review
(ii) Making an action plan and implementing it
(iii) Problem formulation and interpretation
(iv) Generating ideas and options

Options :

(1) (i), (iv), (i), (1)
(2) (i), (i), @v), (@)
(3) (). (i), (i), (i
(4) - (v), (i), (i), (1)



Freferfad gaen gmem & Wl @ 98 w9 § geyafed wifu)

iv) foeEmi iR fashedl &1 3c= T
farerey :

(1) (), (v), @), (1)

(2) (i), (i), (iv), ()

(3) (), (@), (i), (3)

(4)  (@v), (i), (i), (@)

[Question ID = 134][Question Description = $20_Social Science_Q074]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

45)
Suppose you wish to use “simple to complex” approach to organise curricular topics.
Choose the appropriate option arranging them in the appropriate sequence.
(i)  living in a family
(i) forest regions of India
(iii) family in neighbourhood

(iv) communities existed long ago



T wfen o1 wve | sifeat ! Surm § urgEel ot gerafterd s Aed € = feu w suge
AR | IR 9P Tashed o1 =97 wi |

(i) URERH @

(i) “TRd % =T &

(i) TS H WA

(iv) Ed TEel % HHSH
faeney

(D) (@), (@), (), (i)
(2) (@), (@), (i), ()
(3) (@), (i), (i), (iv)
(4) (@), (i), iv), (i)

[Question ID = 135][Question Description = $20_Social Science_QO075]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

46)

Which of the following maps will you use to show the natural features of the earth in
class ?

(1) Physical Map
(2)  Political Map
(3) Thematic Map
(4) Natural Map

Trfafad wmfesl § 9 @ | s &1 A9 & 3 Y&l 6l Whiae faemars wi s & fag
IR LT ?

(1) siifoes amfas

(2) SHifds wHfEs

(3) AT (ofiifew) AHfa

(4) Yrepfdes AFfEE

1[Q1L1t[acs)t19n |I|[J) =514 .:»]fa][Question Description = S20_Social Science_Q076]

2. 2 [Option ID = 542]

3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

47)



A social science teacher wants her students to inquire about the condition of health facilities
in their area. Which of the following would find place in her lesson plan ?

(A) Organizing a visit to local health centre
(B) Discussion on why government should provide health care for poor
(C) Showing data on malnutrition among children world wide.

Options :

(1) Both (A) and (B)
(2) Both (B) and (C)
(3) Both (A) and (C)
(4 (A), (B) and (C)

e GrArfere form &1 forfarent o fernffal & o7 o &3 § wareen gfawmsi = g w SE
Har =edt § | Fefafea § 9 76 we dem § e e O e g 2

(A) T TR g H 9HY R SRS
(B) HTHR Tl TS ] TERLH YATU 341 ST FEH! HEC — 39 T == FHl TAH
(C) T fava & o= § U I =l FHO o Hiws fgEr |

fareney -

(1) @F (A) T2 (B)
(2) = (B) T (C)
(3) T (A) T (C)

(4)  (A), (B) 91 (C)

[Question ID = 137][Question Description = $20_Social Science_Q077]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

48)



A social science teacher planning to discuss the topic “social justice and marginalisation’.
Which of the following are the most appropriate learning outcomes ?

(A) students understand concept of marginalization
(B) students understand how judiciary functions in daily lives
(C) students recognize how marginalization takes place in the real lives

(D) students recognize how social justice is denied and to whom

Options :

(1) (A), (B) & (C)
(2 (B), (O & (D)
(3) (A), () & (D)
(4) (A), (B) & (D)

grfeter fas & ueh e grfsres =g oI wifvrars’ faug W == &6 &l IS a9 @IE |
Frferfaa & 9 #iF & waifas suge wftrm wfawe €2

(A)  Taeneft efdrmwn %t sEumon %1 J9s €

(B) = Sfte & =mamfesm F8 +rd w5t €, fawnedt 78 amem €
(C) faenedt wg=rd € for arafas ster H eiferarn F- 2 2

(D) Tomneff st € fop ford @i 8 grfoiss = ereelishd foram ST 2 |

(1) (A), (B) & (C)
(2) (B), (C) 3 (D)
(3) (A),(C) ¥R (D)
(4) (A), (B) ¥R (D)

[Question ID = 138][Question Description = $20_Social Science_Q078]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

49)



‘I live in a Muslim dominant area. My brother and I had gone for an Iftar party in the
neighbourhood and were dressed in traditional clothes, that is sherwani and salvaar kameej
respectively. Later we changed our clothes to jeans and T-shirt’.

How do you view this narrative of a girl ?

(A) Clothes can be seen as a marker of identity

(B) We may be prejudiced for the clothes we wear

(C) Clothes should be worn for comfort and as per occasion
Option :

(1) (A) and (B)

(2) (A) and (C)

(3) (B)and (O

(4) (A), (B) and (O)

T s gfe aga &9 § wdl g1 H o 7w g vSe § € SR 1 UE ead § U ¥ S g
TR 92 A HHY: Va6 Gaar-HHE Jod W@ 9 | 9% § A 3197 F98 geashl S+
3R -9 UEA faw | 119 39 @S] % FAid H hd oEd & 2

(A) IS F UEEH & 9 % w9 H off <@ S 5 g
(B) ®H S HUS W& § Seh] oieht B9 aUEl & Hehd 2 |
(C) ISl %! M o ferw iR Hieh % SIER va= =1feu |

o= -

(1) (A) 3T (B)
(2) (A) = (©Q)
(3) (B3 (C)
(4)  (A),(B) #R (C)

[Question ID = 139][Question Description = S20_Social Science_Q079]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

50)



Which of the following questions promote critical thinking among students ? Choose the
appropriate option.

(A) Explain the formation of Himalaya and Ganges river system.

(B) What are the merits and demerits of multi party system ?

(C) What are the suitable conditions to establish iron and steel industry in

Jharkhand 7

(D) Give three differences between the way villages are managed today and in time of
mahajanapadas.

Options :

1) (A) & @)

2 (B & D)

3) (B &(©

(4) (© & (D)

frfefad § & fm7 ovel @ S6l & A=A foesm i g fied € 2 3ugs fowe 94
(A) Temrerd qo T €1 Sewe o §1 hi UlhAT i SARE i |

(B) Wg-geitd saRyl & TV AR SS9 F-F T ?

(C) wEE ¥ 3o i Wiet Sun Tnfua e & 3ftaa ferfaat #A-am @ 22

(D) 3111 Tl 37 HerSIg & W9 & Wil i s4ae 1 o Sl = w6 |

fareney .

(1) (A)@= (B)
(2) (B) @41 (D)
(3)  (B) @&l (C)

(4) (©) 9 (D)

[Question ID = 140][Question Description = S20_Social Science_Q080]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

51)



Read the following statements (A) and (R) and choose the correct option :

Assertion (A) : Branding means stamping a product with a particular name or sign, so
as to differentiate it from other products in the market.

Reason (R) : Branding came from cattle grazing where owners thought of marking
their cattle to avoid mix up.

Options :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3)  (A)is true but (R) is false

(4) Both (A) and (R) are false

frefafad w9l (A) 3R (R) 1 9feu qon 9&t fawey =1 9299 Hifag|

afieRem (A):  Fifen &1 1 € foredl Seare W ot e A an foe 1 et e i ue
UG 1 SR H gaferd 39 SeEl 9 st (fve) fed

T (R): ‘SIS’ A1 SR IYaTe i Setd § SV U I © Sl Hifersh 3 geii ™
YEAM =hi AT el §L R o [T Y1 @H 98 R 1 | |

faenea :

(1) (A) 3R (R) <1 Tt § e (A) Fi (R) HEl 4@ F & |

(2) (A) ¥R (R) 2Hi @& E aifda (A) 1 (R) Tl smen & #:a g |

(3) (A) HEl & wf (R) 7TeTd 2 |

(4) (A) 3R (R) i 7o ¥

[Question ID = 141][Question Description = S20_Social Science_Q081]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

52)

Consider the following statements (A) and (R) and choose the appropriate option.

Assertion (A) : Thereis aneed to decentralise the development of social science curricular
materials in which teachers, students and community members introduce
their own realities.

Reason (R) : Decentralisation enables students of different regions and social groups
to relate to the social science curricular materials they work with.

Options :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) Both (A) and (R) are false



Frefafad oAt (A) 997 (R) W fa=ar +1 @ik 98 faweq =1 =97 i

WA (A) : s o amfial & famm =1 faddinto w3 w1 sea & ol e,
fernell AR THE™ & Heed SAUA| SRdafashdis] 1 T&d i |

T (R) : ot fafvm & ofn amfess wgEl & e fenfeli =t fom grfsrs
o e wmfrE & Wy 9 FW Hd § ST WY SigaR 9@ ° ged
ERIGIE

faeea

(1) (A) 3R (R) SFi 9&l € 3i (A) &1 (R) Hel AT Ll & |

(2) (A) 3R (R) SF1 W& § ifeh (A) &1 (R) T&T ==& & il § |
(3) (A) §&t & @frA (R) 7Terd B |

4) (A) R (R) T e T |

[Question ID = 142][Question Description = $20_Social Science_Q082]
1 [Option ID = 565]
2 [Option ID = 566]
3 [Option ID = 567]
4 [Option ID = 568]

A W N -

53)

Consider the following statements (A) and (R) and choose the correct option.

Assertion (A) : Traditionally social science curriculum accommodated gender concerns
by including ‘examples’ of women.

Reason (R) : Making the perspectives of women integral to the discussion of any
historical event or contemporary concerns is inevitable,

Options :

(1) Both (A) and (R) are true

(2) Both (A) and (R) are false
(3) (A) is true but (R) is false
(4)  (A)is false, (R) is true



frefafad oAt (A) 921 (R) W fo=9r %1 3R 92t fasmey &1 997 #:1)

HOA (A) TP w9 § Hrarferes fos g § S geE gg o geEee | fe %
AR T IS A € |

HROT (R) - fore off Ufceifees s sl wuerted qE &1 == |4 wi-ufie & uwied
T Rl STEYAH 2 |

ferereq -

(1) (A) 3R (R) 21 wét €1

)
(2) (A) 3R (R) S 7o €1
(3) (A) WEl & @fehd (R) 7Tomd 2
(4)  (A) 7o T AR (R) 2

[Question ID = 143][Question Description = $20_Social Science_Q083]
1. 1 [Option ID = 569]
2. 2 [Option ID = 570]
3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

> Which of these is/are example(s) of secondary sources ?
(A) Scholarly journals
(B) Biographies
(C) Diaries
(D) Photographs
Options :
(1) (A) only
2 (A) & (@)
(3)  (A), (B) & (O
(4) (B) & (D)



=78 9 & fadtaes Eid &1 e 82
(A) Tagml @i ufeerd

(B) STcAHYTT
(© =md

(D) W&
faerea :

(1) ad (A)

(2) (A) R (B)
(3) (A), (B) ¥ (C)
(4) (B) &R (D)

[Question ID = 144][Question Description = $20_Social Science_Q084]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

55)

For doing a project on freedom struggle at the middle level, which of the following may be
least essential ?

(1) Photographs

(2) Important Quotations of Freedom Fighters

(3) Sources from which the information was collected
)

(4) Questionnaire based collection of data

meafies (fafeen) WX 1 Tadsa 9am % S U 9fEem w3 & fore frefafeaa § 9 %
=J7an &9 § Afar & uwa @ 2

(1) fom

(2)  EEdsE YAl & Hew= Ul 30
(3) @ &id 5 9 g gehE il T8
(4)  FEAEE! 9T SHIRG Sishel &1 GU8

[Question ID = 145][Question Description = S20_Social Science_Q085]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

56)



Agencies approved by which of the following is/are expected to develop evaluation
procedures as per RTE Act 2009 ?

(A) Union Government
(B) State Government
(C) Local Government
0pﬁons :

(1)  Both (A) and (B)
(2) Elther (A) or (B)
(3)  Only (A)
(4)  Only (B) & (C)

AR E. TR-2009 & AR Frefafeg § § S o degy/awensdi § gegisd wwnl @ fowtaa
T Y STE T ?
(A) Fa TR
(B) T TR

(C) TIHTT FLhR
fareney -

(1) (A) iR (B) &l
(2) A (A), T (B)
(3) A (A)

(4) FEE (B) ¥R (c)

[Question ID = 146][Question Description = S20_Social Science_Q086]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

57)
The assessment cycle of a class or school begins with and ends with

(1) Formative assessment & summative assessment

(2) Placement assessment & summative assessment
(3) Diagnostic assessment & formative assessment
(4) Formative assessment & placement assessment



Teredt amen a1 foamnerd &1 sTehei ek Y oy a1 ® 2R 9 GHH B

) e steeH SR AT SR
(2) TS e 3R IS e
) AT s iR FaimeTe srser
) TR SR iR A e

[Question ID = 147][Question Description = $20_Social Science_Q087]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

58 ; j =
) A purposeful collection of student’s work can be considered as

(I) a report card
(2) a portfolio
(3) an assignment
(4) a rubric
feenerl & 1 % Hevd HIEW & HAT ST Hehel |
(1) TR =
(2) I
(3) T @ (eHigTH)
(4) wform

[Question ID = 148][Question Description = $20_Social Science_Q088]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

59)
A social science teacher wants to evaluate whether her students to have understood the
concept of population pyramid or not. Which of the following could help her ?
(A) They can read and interpret population pyramid.
(B) They can prepare a population pyramid with the given data.
(C) They can infer about employed people with the help of population pyramid.
Options :

(1) Only (A) and (B)
(2) Only (B) and (C)
(3)  Only (A)and (O)
(4) (A, (B) and (C)



qraifsen fasm @t U forfient a7 geifera e =med € o o faenfiE 3 seden frofie &
Ay 1 aag foen & o =8 2 =1 | 9 o ek & g € 2
(A) o sEEn foufie 1 1g Td €, 2R S9! SAe X 99 © |
(B) Teu T afehsl % MR W SHEE e o T €
(C) e frufire ot gemd | & TSR | & @il o 9 H STE @ Hehd © |
faerea :
(1) =Faa (A) 1 (B)
(2) %A (B) 991 (C
(3) wHEaA (A) T (C)
(4) (A), (B) = (C)
1[.Q:J?;Eit?; |||3 =519 ‘31]9][Question Description = $20_Social Science_Q089]
2.2 [Option ID = 594

3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

60)
Which of the following questions assess the analysis skills of learners ?
(A) If all glaciers of Himalayas melt down, what are its impacts on human life in India?
(B) How we file a case in consumer forum court ?

(C) What is Finance Commission ? Describes the main functions of the state finance
commissions.

(D) Why national integration is necessary in India ?
Options :

(1) Only (A), (B) & (C)

(2)  Only (B), (C) & (D)

(3)  Only (A) & (B)

(4)  Only (A) & (D)



frafafed § @ %F 9 g aftrmyediell % favem #3535 Five 1 aJiwd 2

(A) >R Tearera i wft et faee ST wid | Jra Sied T 359 31 99E 2 2
(B) &\ IUHIHl =™er § Y ¥ fge 3 ?

(C) foa 1m0 & ? U o STl & g i &1 avie ife |

(D) 9RA H TETT ThIH0 F] STETTH © 2

feaeneg -

(1) dd (A), (B) &R (C)
(2) ad (B), (C) ¥R (D)
(3) e (A) ¥R (B)
(4) W (A) R (D)

[Question ID = 150][Question Description = $20_Social Science_Q090]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- HIN_Q91-99_L1_P2_CTET

1)

few 7q TrnYT W eATYEeh Ufgu qem U MU U T S9ged fashed Ff T

It U FHA TG 1 g 9 AT a9 § Yot B9 81 ofdl €, STefe T &
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LS 11 e 2 e B 2 B B e o B e e e B [ e A
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"I STET Il 2h1 e YRR i Blal 3311 USdl § | U =afe o forg &t a1 & - ‘Wi e
12 %, Tfersrd J o | Eud Fed gE i, afed 98 qed || e 9 sk WA 6 e
A1 ¥ | el BR At 31 B, S e Aol foaw §1 et o T ® - CueR 9= & Aiwfy, s a=e
g

T SR FHITH T H AR €
(1) @

(2) =it

(3) =HdER

(4)

[Question ID = 181][Question Description = S20_Hindi Content/Pedagogy_Q091]
1. 1 [Option ID = 721]



2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]

2)

faw 7 wwryr S earTyees ufew qem 9B U uve Wt SageRt fasen )

A Uk A aEH €1 hiad A9 Hidt 9t ¥ Geeh §9 81 odl §, S@ih hiu &
Fig-ia fopal 1 et =8 et | amft  fom oa 3 g € i) a1 guE Sgd = 2
&1 ST Al & weft o Tag & ) & 1 W Sier Jel 1 GHTS § o8 STet Bl | | HET 3
7@ 9 el T-Ts 952 G- 916 & B9 &) g9 § | SHF T § I 91l SAfe s96 a9 H
B ST &1 TS i) e G A A TR T e S Ao e o s T &
qordt 3 e 2 (i g9 | g 3ueid 98 9| gt st HeuiEET o YOR R §1 e
T SeT T 3h1 ST YRR i &Il SoTl uedi § | U wufda o fu @ sm e B - ‘el e
F1e %, Tfers 1 o | WEuT Fed GE i, S T8 qerd || 2 G s FH e 6 e
o1 & | Tl He 9l 319 7, 9l o At fow &1 el ot T - R e € ey, e a9
g’

[eft & St At 9 @ S € -
(1) ¥ %d

(2) SATHA

3) wHEEH

(4) &HEA

[Question ID = 182][Question Description = S20_Hindi Content/Pedagogy_Q092]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

3)



few 7 wweryr W earTUees ufew qem 9B U v W SageR fasmen )

AWl Tk A GEH B AW AU WIS 91§ Hashl B9 e oidl &, Seih iU i
Fig-whig fordt 1 o=t 72 ot | Ait % fo T e g & WSt Sl 6 gaE agd S g
T 1 ST Al § it o fog &) & 1 W et 9Tl S GETS § 9gd AR AT R | HET
7@ el T-Us 952 G- 916 & H9 &) g9 7 | SH% T § I 9Tl Al 396 a9 H
BN ST | HIST it Shae A ATl Sl @ STHTed el sl St ale aTet w1 oY SIS ugaEr
ot 3 el 8- S g9 o @ Sued 98 @R | geurdt s § GeaeE o WER R ¥ e
TH1 STET It 1 3T7a JhR i B3 SaT! gedl © | UH =afda o fag &t a1 ¢ - ‘wiiw e
F1e %, Tfers 1 o | EuT FHed GE i, S T8 TS || 2 9w T 0 6 e
S| SR e Aol o1 7, 9 o aront faw § 1 e off e § - CHER 9= § ey, e g
g

g s ool | wrs | sed ©

(1) gfer

2)

(3) HEHE

(4) TRl

[Question ID = 183][Question Description = S20_Hindi Content/Pedagogy_Q093]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

4)



few 7 wTerer W earTuees ufew qem 9B U v W Sager fasmed =)

Al T A aEH B A AYA WIS 91 # Hash B9 e eidl &, e hlu i
Fig-whig fordt 1 o=t 78 ot | arit % o T e g § WSt Sl o6 e agd S g
1 ST ait § it e fog & ) & 1 W et 9l 1 GETS § 9gd ST | | HET 3
7@ 9 el T-Us 952 G- 916 & 09 ] GO B | SHF T § I 9Tl Al 396 a9 H
BN a1 | HIST it Shae A ATl Bl @ STHTed el sl ot ale aTet w1 MY ST ug e
qordt 3 e & S g9 | gE 3ued 9 9| gt s H TuigET o TR R §1 e
TN STeT Il 2h1 3T7a FehR ol B3 Sor! gl © | U =af o fag & a1 g - ‘wii i e
F1e %, Tfers 1 o | EuT Fed GE i, Sead T8 G || 2 9T s WEE 1 6 e
o1 & | 5T me anft e1d 8, 9 o amft fow &1 e oft T § - HER 9 § ey, e au
g

@A A Hed 9= Sier alel Sl #9 TS S H HeAE ol ¢ 7

(1) @R i a2 o e T8 dTH

(2) He FE H G T

(3) ER H HHHAMA

(4) heal =it =R fay faer

[Question ID = 184][Question Description = S20_Hindi Content/Pedagogy_Q094]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

5)



few 7 wTerer W earTuees ufew qem 9B U v W Sager fasmed =)

Al T A aEH B A AYA WIS 91 # Hash B9 e eidl &, e hlu i
Fig-whig fordt 1 o=t 78 ot | arit % o T e g § WSt Sl o6 e agd S g
1 ST ait § it e fog & ) & 1 W et 9l 1 GETS § 9gd ST | | HET 3
7@ 9 el T-Us 952 G- 916 & 09 ] GO B | SHF T § I 9Tl Al 396 a9 H
BN a1 | HIST it Shae A ATl Bl @ STHTed el sl ot ale aTet w1 MY ST ug e
qordt 3 e & S g9 | gE 3ued 9 9| gt s H TuigET o TR R §1 e
TN STeT Il 2h1 3T7a FehR ol B3 Sor! gl © | U =af o fag & a1 g - ‘wii i e
F1e %, Tfers 1 o | EuT Fed GE i, Sead T8 G || 2 9T s WEE 1 6 e
o1 & | 5T me anft e1d 8, 9 o amft fow &1 e oft T § - HER 9 § ey, e au
g

TR FA1 SR K FEA1 ohl AT S T ¥

(1) eirfy, 9%
(2) situfy, TR
(3) T, HIA
(4) IS, A
[Question ID = 185][Question Description = $20_Hindi Content/Pedagogy_Q095]

1. 1 [Option ID = 737]
2. 2 [Option ID = 738]
3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

6)



few 7 wTerer W earTuees ufew qem 9B U v W Sager fasmed =)

Al T A aEH B A AYA WIS 91 # Hash B9 e eidl &, e hlu i
Fig-whig fordt 1 o=t 78 ot | arit % o T e g § WSt Sl o6 e agd S g
1 ST ait § it e fog & ) & 1 W et 9l 1 GETS § 9gd ST | | HET 3
7@ 9 el T-Us 952 G- 916 & 09 ] GO B | SHF T § I 9Tl Al 396 a9 H
BN a1 | HIST it Shae A ATl Bl @ STHTed el sl ot ale aTet w1 MY ST ug e
qordt 3 e & S g9 | gE 3ued 9 9| gt s H TuigET o TR R §1 e
TN STeT Il 2h1 3T7a FehR ol B3 Sor! gl © | U =af o fag & a1 g - ‘wii i e
F1e %, Tfers 1 o | EuT Fed GE i, Sead T8 G || 2 9T s WEE 1 6 e
o1 & | 5T me anft e1d 8, 9 o amft fow &1 e oft T § - HER 9 § ey, e au
g’

Hi2T Jofl st drel sl HHS |

(1) SHGLE 2

(2) HRYE Sitad Bl §

(3) S EME

(4) ofg=hR g g

[Question ID = 186][Question Description = S20_Hindi Content/Pedagogy_Q096]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

7)



few 7 wweryr W earTUees ufew qem 9B U v W SageR fasmen )

AWl Tk A GEH B AW AU WIS 91§ Hashl B9 e oidl &, Seih iU i
Fig-whig fordt 1 o=t 72 ot | Ait % fo T e g & WSt Sl 6 gaE agd S g
T 1 ST Al § it o fog &) & 1 W et 9Tl S GETS § 9gd AR AT R | HET
7@ el T-Us 952 G- 916 & H9 &) g9 7 | SH% T § I 9Tl Al 396 a9 H
B S ¥ 1 S it e A ATl w gl Sfed e sl o e arel w1 ot STE ugEndt #
ot 3 el 8- S g9 o @ Sued 98 @R | geurdt s § GeaeE o WER R ¥ e
TH1 STET It 1 3T7a JhR i B3 SaT! gedl © | UH =afda o fag &t a1 ¢ - ‘wiiw e
F1e %, Tfers 1 o | EuT FHed GE i, S T8 TS || 2 9w T 0 6 e
S| SR e Aol o1 7, 9 o aront faw § 1 e off e § - CHER 9= § ey, e g
g

‘e T AY T

(1) =1

(2) =Ed T=0

(3) fa=m@

(4) HYeH

[Question ID = 187][Question Description = S20_Hindi Content/Pedagogy_Q097]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]
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few 7 wTerer W earTuees ufew qem 9B U v W Sager fasmed =)

Al T A aEH B A AYA WIS 91 # Hash B9 e eidl &, e hlu i
Fig-whig fordt 1 o=t 78 ot | arit % o T e g § WSt Sl o6 e agd S g
1 ST ait § it e fog & ) & 1 W et 9l 1 GETS § 9gd ST | | HET 3
7@ 9 el T-Us 952 G- 916 & 09 ] GO B | SHF T § I 9Tl Al 396 a9 H
BN a1 | HIST it Shae A ATl Bl @ STHTed el sl ot ale aTet w1 MY ST ug e
qordt 3 e & S g9 | gE 3ued 9 9| gt s H TuigET o TR R §1 e
TN STeT Il 2h1 3T7a FehR ol B3 Sor! gl © | U =af o fag & a1 g - ‘wii i e
F1e %, Tfers 1 o | EuT Fed GE i, Sead T8 G || 2 9T s WEE 1 6 e
o1 & | 5T me anft e1d 8, 9 o amft fow &1 e oft T § - HER 9 § ey, e au
g’

re R feretH IR T H S €

(1) e
(2) =g
3) W
(4) &HE

[Question ID = 188][Question Description = S20_Hindi Content/Pedagogy_Q098]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]
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few 7 wTerer W earTuees ufew qem 9B U v W Sager fasmed =)

Al T A aEH B A AYA WIS 91 # Hash B9 e eidl &, e hlu i
Fig-whig fordt 1 o=t 78 ot | arit % o T e g § WSt Sl o6 e agd S g
1 ST ait § it e fog & ) & 1 W et 9l 1 GETS § 9gd ST | | HET 3
7@ 9 el T-Us 952 G- 916 & 09 ] GO B | SHF T § I 9Tl Al 396 a9 H
BN a1 | HIST it Shae A ATl Bl @ STHTed el sl ot ale aTet w1 MY ST ug e
qordt 3 e & S g9 | gE 3ued 9 9| gt s H TuigET o TR R §1 e
TN STeT Il 2h1 3T7a FehR ol B3 Sor! gl © | U =af o fag & a1 g - ‘wii i e
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g

(1) e
(2) W
(3)
(4) e
[Question ID = 189][Question Description = S20_Hindi Content/Pedagogy_Q099]

1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

Topic:- HIN_Q100-105_L1_P2_CTET



" fau T e i saE U qoT OB T U9 T 39gE fawe 9
Ry IS Frel i fFa gare
=gl Bl | g4 fwmel |
& oot vl oft um, frend Al
Ty =EHIS 1 yshe = |
=g g1 Ye-Tered W |m o v
frt =@, fasrdt & wger for x|
Brel 7 o9 o7, T % S
A el 3179 9, ol &AM He ST |
Tl IR & TS e =l ©
T & S, TS & 9 AT ¢ |

7d gy form i er9f = wedt &
w@nefia sra § 9@ sifd @ 7
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(1) g - |

(2) R
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(4) =iel st wife

[Question ID = 190][Question Description = S20_Hindi Content/Pedagogy_Q100]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]



Y fiw TC e F A UfET AT T T U9 T g e i
Ry IS Frel i fFa gare
=gl Bl | g4 fwmel |
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Ffa foras TaM S 1 Fea g2
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(3) fasreh =afeadl & wHF

(4)  TSTAT 6 HHH

[Question ID = 191][Question Description = S20_Hindi Content/Pedagogy_Q101]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]



Y fi 0 e F LA UfET AT I T U9 T g e i
Ry IS Frel i fFa gare
=gl Bl | g4 fwmel |
& oot vl oft um, frend Al
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" uet =i e Se ! T e ®
(1)  Temerit € gt 31 =g
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(3) THER F9 8 S
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[Question ID = 192][Question Description = S20_Hindi Content/Pedagogy_Q102]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]

3. 3 [Option ID = 767]
4. 4 [Option ID = 768]



Y faw T wTEATST Y AT Ui AT U T WY whT IE e 9|
Ry IS Frel i fFa gare
=gl Bl | g4 fwmel |
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S forT 2 Eied o1 T © o ToREehT SN #d § 7
(1) Hd@i=

(2) Z:@iH
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(4) G

[Question ID = 193][Question Description = S20_Hindi Content/Pedagogy_Q103]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]



? fi T e F A UfET AT I T U9 T g e i
Ry IS Frel i fFa gare
=gl Bl | g4 fwmel |
& oot vl oft um, frend Al
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=g g1 Ye-Tered W |m o v
frt ==, forsrt % age i 1!
Brel 7 o9 o7, T % S
A el 3179 9, ol &AM He ST |
Tl IR & TS e =l ©
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7d gy form i er9f = wedt &
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T TEHI H Hia @ I | @82
(1) Sfae ol &1 T ol

(2)  SUF- hl &1 HT Hl

(3) oA Hufd =i 1870 LA =i

(4) HHISI i L& T hI

[Question ID = 194][Question Description = S20_Hindi Content/Pedagogy_Q104]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]



Y fi TC e F LA UfET AT T TC WIS T g e g
Ry IS Frel i fFa gare
=gl Bl | g4 fwmel |
& oot vl oft um, frend Al
Ty =EHIS 1 yshe = |
=g g1 Ye-Tered W |m o v
frt =@, fasrdt & wger for x|
Brel 7 o9 o7, T % S
A el 3179 9, ol &AM He ST |
T IR 72 TS HS o ®
T § 1, U & AN Al ¢

7d gy famn st ereif =ma Hedt @
w@nefia sra § 9@ sifd @ 7
Yo" e A B

(1) smTa

(2) erfed

(3) o=

4) 3

[Question ID = 195][Question Description = S20_Hindi Content/Pedagogy_Q105]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- HIN_Q106-120_L1_P2_CTET
1)

] 3G ki AR o e & SR forenielE st saray S veg YR i HAH HrEgdl &
A H At &1 a8 oy faf &1 s o @ 82

(1) =9 fawae Hiea
(2) wHISER-HiEpdH A
(3) faum Atew
(4) HAlCHH HiEA

[Question ID = 196][Question Description = S20_Hindi Content/Pedagogy_Q106]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]



4. 4 [Option ID = 784]
2)
"oyt Afres B A oreE ST geet 9 # O § o me 8 ufae 1 Heg gmnsii
o B 21" % e T fagra & wwifid §7
(1) F AR
(2) S o
(3) oW
(4) FH SR
[Question ID = 197][Question Description = S20_Hindi Content/Pedagogy_Q107]
2. 2 opton 0 - 784]

3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

3)

B L e e ol 1 I o e B e B R e B e A
(1) =HRITER FH A1 ferehrd

(2) w@fm M & faE

(3) TeRIaiHeR el =l fam

(4) EEHYUTHE &A1 A fashE

[Question ID = 198][Question Description = S20_Hindi Content/Pedagogy_Q108]

1. 1 [Option ID = 789]

2. 2 [Option ID = 790]

3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

4)

Y o STIHR ®H SAfes Faw <@d 18 78w *ed €, favas % g s iR e € o e
== = (a9 fae €, 399 day § sifes Teomiie 26 € -

(1) =7 99TercHsh ftheet

(2)  HEAH YHEREF fheey
(8) = g9ERHE et
(4) IEd =9 YYEHS fheel

[Question ID = 199][Question Description = S20_Hindi Content/Pedagogy_Q109]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]



D g % ar: T fagrd % ai § forn/ a1 TeEE 5
i) e sAfveafan & fow o gaeE ¥

(
(i) o fafy=r geoTEE w5 w eafierf o e §
(
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b S

iii) T ST dgfaaeE SR T o fme & weE B
iv) T TS W S 6 A §

Wty

(1) (@), (ii) TR (iii)
(2) (), (i) 3R (iv)
(3)

)

L85

(i), (iii) 3T (iv)
4) (i), (iii) 3 (iv)

[Question ID = 200][Question Description = S20_Hindi Content/Pedagogy_Q110]
1. 1 [Option ID = 797]

2. 2 [Option ID = 798]

3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

6)
(1) |y menfia v e
(2) T eI e foar
(3) UIST FHRE W e
(4) wEErTHE e
[Question ID = 201][Question Description = S20_Hindi Content/Pedagogy_Q111]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]

3. 3 [Option ID = 803]
4. 4 [Option ID = 804]

7)
Tk T AT Bl o AT (Hfarad H 9 $H-H1 f5did 9 315 & forg 21fyew |98 9§ @]
T ?
(1) o e = yEyE
(2) SERRTd AR % THHE ol
(3) HME e WeR ¥ ulifad U
(4) TFE T YRS H G
[Question ID = 202][Question Description = S20_Hindi Content/Pedagogy_Q112]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806]

3. 3 [Option ID = 807]
4. 4 [Option ID = 808]



8)
T LA o+ A, AGR! Aegfredl & qry faenfefi o eerer W ¥ enges fen se-w
e § ?

(1) feifea wiend
(2) WeEw

(3) Tr&y @A
(4) waH

[Question ID = 203][Question Description = S20_Hindi Content/Pedagogy_Q113]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]

9)
ek SR U B GHY G Rl sy e gu faenfeiE gro fere e sl w6 wey e
T ST A IR &1 SH SAHNF & U -8 Fals AfHE GaHE 2l 2

(1) fagergomeas

(2) HHIAEE!

(3) T

(4) Tfafere = s

[Question ID = 204][Question Description = S20_Hindi Content/Pedagogy_Q114]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]
3. 3 [Option ID = 815]
4. 4 [Option ID = 816]

10)

gy iifaes gftifshan’ & s § sl ol =H §

(A) TS TAfafy % e g 1 | el oA i HTSHTT 9 S € |
(B) ety aren 15 o= it WUH YT TS % T Tl ¥ |

(1) (A) TE T

(2) (B)FET

(3) (A) @R (B) & wet &

@) (A) iR (B) I TTera €

[Question ID = 205][Question Description = S20_Hindi Content/Pedagogy_Q115]
1. 1 [Option ID = 817]

2. 2 [Option ID = 818]

3. 3 [Option ID = 819]
4. 4 [Option ID = 820]



" e sty S W A, T Teor s 3 SR Sy @ e B2

@) e st B Sy A Sces v ¥ qeel STl €
(i) F99 F FR AT FIver T FVIA! § TR 21 8
(i) e oo § 19 W se o =nfee 7 fop i @

(iv) e e gaterofa gurEl 9 ga g =fe )

[Question ID = 206][Question Description = S20_Hindi Content/Pedagogy_Q116]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]
3. 3 [Option ID = 823]
4. 4 [Option ID = 824]

12)
Frefeafaa § 9 Fa-ar amn e & fag sy &) difas Brmeil % 99 o e 2ar @ ?
(1) 9= R

(2) A Aifaw gfafea
(3) = s W foego
(4) HHSE I A e

[Question ID = 207][Question Description = S20_Hindi Content/Pedagogy_Q117]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]
3. 3 [Option ID = 827]
4. 4 [Option ID = 828]

13)

e e T o afteE oA % for fernfefEi @ frefate frand &0 & fou sedt @ -
379 g9 HIERT Y

U1 =B U Y

A9 o1 Harg

SR forga SATam R @l 82

(1) o9

(2) A I wr e

(3) Tamrgesg snemia W fosmor

(4)



[Question ID = 208][Question Description = S20_Hindi Content/Pedagogy_Q118]
1. 1 [Option ID = 829]
2. 2 [Option ID = 830]
3. 3 [Option ID = 831]
4. 4 [Option ID = 832]

14)
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the pmblem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong,.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215t century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

“The international community must commit to righting that wrong”.

The ‘wrong action” being referred to here has led to :

(1)
(2)
(3)
(4)

Climate change
Unsustainable development
green growth

Carbon revolution
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the pmblem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong,.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215t century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

“The richest countries caused the problem, but it is the world’s poorest who are already
suffering from its effects.” Which of the following is the problem caused by the richest
countries ?

Disruption of peace.

Higher emissions leading to global warming,.
Imprudent use of natural resources.

Higher consumption of food grains leading to droughts.
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the pmblem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong,.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215t century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

What does the phrase ‘gray and dull’ in the last para mean ?

(1)
(2)
(3)
(4)

anything which is not very clear.

without proper lighting,.

deprived of technological advances and comforts
anything which is not attractive.
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the pmblem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong,.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215t century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

According to UN Commission, how can productivity be raised for better economic
growth ?

(1)

(

(

2)
(3)
4)

by growing different crops.

by growing fodder for livestock.

by creating more jobs.

by letting women use their skills and talents.
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong,.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215t century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

Read the following statements marked as Assertion (A) and Reason (R). Choose the
most appropriate option.

Assertion (A) : A future where economic growth is inversely proportional to greenhouse

gas emissions is quite possible.

Reason(R) : Use of solar panels, LED lights, sustainable agriculture, improved cooking

(1
2
(3
(4)

stoves contribute to low carbon environment.
Both (A) and (R) are correct and (R) is the correct reason for (A).
Both (A) and (R) are correct but (R) is not the correct reason for (A).
(A) is correct but (R) is incorrect.
Both (A) and (R) are incorrect.

[Question ID = 305][Question Description = S20_English Content/Pedagogy_Q125]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong,

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the confribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership onclimate change can result in a low carbon revolution for the 215 century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

Which word in para 2 of the passage means the same as ‘perseverance” ?

(1)

(

(

2)
(3)
4)

unpredictable
resilience
incredible
impact
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering from its effects. The international
community must commit to righting that wrong,

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the confribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215 century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

Which of the following words is opposite in meaning to the word, ‘recession’ in para 4 of

the passage ?
(1) advance
(2) success
(3) rebellion
(4) inflation

[Question ID = 307][Question Description = S20_English Content/Pedagogy_Q127]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

Climate change is a matter of concern. The richest countries caused the pmblem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong,.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215t century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

Which part of speech is the underlined word in the given sentence ?

‘We need to harness the contribution of women.”

1)
2
3

— ——

)
)
(4)

Modal
Verb
Conjunction

Preposition

[Question ID = 308][Question Description = S20_English Content/Pedagogy_Q128]
1. 1 [Option ID = 1229]
2. 2 [Option ID = 1230]
3. 3 [Option ID = 1231]
4. 4 [Option ID = 1232]

Topic:- ENG_Q129-135_L2_P2_CTET

1)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

Ts

B,

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

According to the passage, which of the following statements does NOT hold true ?

(1)
(2)
(3)
(4)

The executors of Jesus Christ have been forgotten.

Gandhiji was a fearless leader.
Fear is the root of all evils.
Menially dwarfed will die with pride.

[Question ID = 309][Question Description = S20_English Content/Pedagogy_Q129]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

B,

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Who live eternally ?

(1)

w3 kD

(2)
(3)
(4)

Who suffer and die for a cause.
Who are conquerers

Who are unsung

Who are disciplined
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

B,

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Find the most appropriate combination that expresses all negative traits of a person, in
light of the passage.

(A)

unwept, unsung, and unhonoured people
fearlessness, courage, determination

stoning the houses, burning trains, killing people
ambition, conviction, humanity

(B) and ()

(A) and (B)

(A) and (O)

(A) and (D)
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

B,

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Who are the ‘salt of the earth’ ?

(1)

w3 kD

(2)
(3)
(4)

Intellectually empty men
Fearless in the midst of tortures
Who lack spirituality

Invaders
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

B,

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Which part of the following sentence contains an error ?
It is only when a man has the readiness to suffer and dies

(A) (B)

to a cause that he will live eternally in the minds of men.

© (D)
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

B,

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Which of the following words means the same as the word, ‘justification’ in the passage ?

(1)

(
(

2)
(3)
4)

conviction
vindication
ambition
determination

[Question ID = 314][Question Description = S20_English Content/Pedagogy_Q134]
1. 1 [Option ID = 1253]
2. 2 [Option ID = 1254]
3. 3 [Option ID = 1255]
4. 4 [Option ID = 1256]

7)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.

B,

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held

"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Which part of speech is the underlined word in the given sentence ?
“The individual who thinks must convert the mob........”

)

(1)
(2)
(

3

(4)

[Question ID = 315][Question Description = S20_English Content/Pedagogy_Q135]
1. 1 [Option ID = 1257]
2. 2 [Option ID = 1258]
3. 3 [Option ID = 1259]
4. 4 [Option ID = 1260]

Noun
Adjective
Adverb
Verb

Topic:- ENG_Q136-150_L2_P2_CTET

1)

The long list of words for any language is termed as

Morpheme
Phoneme
Lexicon
Pragmatics



[Question ID = 316][Question Description = S20_English Content/Pedagogy_Q136]
1 [Option ID = 1261]
2 [Option ID = 1262]
3 [Option ID = 1263]
4 [Option ID = 1264]

A W N -

2)

A teacher wants to conduct an activity “Three step Interview” in the class and for that
she asks the students to work in pairs. In the first step one student is interviewer and
other is interviewee. In the second step, students reverse their roles, In third step each
share with her / his partner what she / he learned during the two interviews. Here the
teacher is conducting

(1) Community based teaching
(2) Cooperative teaching

(3) Content based teaching

4)

(

[Question ID = 317][Question Description = S20_English Content/Pedagogy_Q137]
1 [Option ID = 1265]
2 [Option ID = 1266]
3 [Option ID = 1267]
4 [Option ID = 1268]

Communicative language teaching

A wWw N =

3)

In the class VIII a teacher presents new material in dialogue form and structural pattern
by using repetitive drills. Here which of these methods is adopted by the teacher to present
the material ?

(1)  Audio-lingual method

(2) Classical method

(3) Series method

(4) Direct method

[Question ID = 318][Question Description = S20_English Content/Pedagogy_Q138]

1. 1 [Option ID = 1269]

2. 2 [Option ID = 1270]

3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]

4 Consider the statements (A) and (B) regarding “Natural Order Hypothesis”--—-
(A)  Errors are signs of naturalistic developmental processes.
(B) During acquisition, similar developmental errors occur in learners in spite

of any native language.

(1) (A) is true, (B) is false.

(2) (A) is false, (B) is true.

(3) Both (A) and (B) are true.
(4) Both (A) and (B) are false

[Question ID = 319][Question Description = S20_English Content/Pedagogy_Q139]

1. 1 [Option ID = 1273]

2. 2 [Option ID = 1274]
3. 3 [Option ID = 1275]



4. 4 [Option ID = 1276]

5)
In a classroom, a language teacher organizes an activity entitled. “Window shopping in
Sarojini Market”. In this activity students are instructed to negotiate in English language.
Here the teacher is following :
(1) Structural Model
(2) Cognitive Model
(3) Interactional Model
(4) Lexical Model.

[Question ID = 320][Question Description = S20_English Content/Pedagogy_Q140]
1. 1 [Option ID = 1277]
2. 2 [Option ID = 1278]
3. 3 [Option ID = 1279]
4. 4 [Option ID = 1280]

6)
In a classroom a teacher is instructing the students to go back to the text and re-read those
lines and words which they didn’t understand. Here, which one of these steps she/ he is
applying :
(1) Focusing
(2) Clarifying
(3) Predicting
(4)

[Question ID = 321][Question Description = S20_English Content/Pedagogy_Q141]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]
3. 3 [Option ID = 1283]
4. 4 [Option ID = 1284]

Questioning

" Multilingualism can be promoted by :

(I)  Citing examples of different languages

(I) Giving all languages equal importance

(IIT) Promoting cooperative learning in the classroom
IV) Prohibiting code-switching in the classroom

1) (1) (1) and (I

2) (1), (1) and (IV)

3) (1), (IV) and (II)

4) (1), () and (IV)

[Question ID = 322][Question Description = S20_English Content/Pedagogy_Q142]
1. 1 [Option ID = 1285]

2. 2 [Option ID = 1286]

3. 3 [Option ID = 1287]
4. 4 [Option ID = 1288]

8)



Being a language teacher if you conduct “need analysis” of your learners then for what
purpose the obtained information may be used

(I)  Selecting the content

(II)  Grouping the learners

(ITI) Designing the classroom activities
(IV) Identifying good and poor learners
(1) (@, () and (110

(2) (W), (1) and (IV)

(3) (1), (IV) and ()

(4) (1, () and (V)

[Question ID = 323][Question Description = S20_English Content/Pedagogy_Q143]
1. 1 [Option ID = 1289]

2. 2 [Option ID = 1290]

3. 3 [Option ID = 1291]

4. 4 [Option ID = 1292]

9)

During an open house discussion the students of class X are sharing their views with the
students of class IX. The Students of class IX and X are getting benefit from each-other.
Hence according to Vygotsky in which type of speech they are involved in ?

(1) Private speech

(2)  Social speech

(3) Inner speech
(4)

Ego-Centric speech
[Question ID = 324][Question Description = S20_English Content/Pedagogy_Q144]
1. 1 [Option ID = 1293]
2. 2 [Option ID = 1294]

3. 3 [Option ID = 1295]
4. 4 [Option ID = 1296]

10)

Arrange the process of language Learning according to community based language learning
procedure :

(I)  Knower listens and other learners overhear

(IT) Knower presents learner’s message in L2

(II) Learner presents a message in Mother tongue to the knower
(IV) Learner repeats the message in L2

(1) (), (I), (IT) and (IV)

(2) (W, (), 1) and (IV)

(3) (), (W), (1) and (IV)

(4) (1), (1), (1) and (IV)

[Question ID = 325][Question Description = S20_English Content/Pedagogy_Q145]
1. 1 [Option ID = 1297]
2. 2 [Option ID = 1298]



3. 3 [Option ID = 1299]
4. 4 [Option ID = 1300]

" The silent way adopts a

(1)  structural syllabus
(2) communicative syllabus
(3) task based syllabus
(4) text based syllabus

[Question ID = 326][Question Description = $20_English Content/Pedagogy_Q146]
1. 1 [Option ID = 1301]
2. 2 [Option ID = 1302]
3. 3 [Option ID = 1303]
4. 4 [Option ID = 1304]

12)

When the words are combined to form acceptable phrases and sentences, is called as

Phonology

(1)
(2) Morphology
(3) Syntax

(4) Pragmatic

[Question ID = 327][Question Description = S20_English Content/Pedagogy Q147]
1. 1 [Option ID = 1305]
2. 2 [Option ID = 1306]
3. 3 [Option ID = 1307]
4. 4 [Option ID = 1308]

13)

In a classroom while reading the text a teacher is emphasizing the content words. It
means she is focusing over

(1) Nouns, demonstratives & conjunctions

(2) Nouns, Preposition & Articles

(3) Nouns, quantifiers & Auxiliaries

(4)

[Question ID = 328][Question Description = S20_English Content/Pedagogy_Q148]
1. 1 [Option ID = 1309]
2. 2 [Option ID = 1310]
3. 3[Option ID = 1311]
4. 4 [Option ID = 1312]

Nouns, adjectives & adverbs

14)

words denote grammatical relations and have little semantic content.

(1) Open class
(2) Open ended
(3) Content

(4) Function



[Question ID =
1 [Option ID =
2 [Option ID =
3 [Option ID =
4 [Option ID =

N wnN -

15) (A)

(B)

)
)
)

EBBRD

)

[Question ID =
1 [Option ID =
2 [Option ID =
3 [Option ID =
4 [Option ID =

A w N =

329][Question Description = S20_English Content/Pedagogy_Q149]
1313]
1314]
1315]
1316]

Boy, love and sing are known as free morphemes.
A free morpheme can stand alone as an independent single word.

(A) is right but (B) is wrong

(B) is right but (A) is wrong

Both (A) and (B) are right and (B) is the explanation of (A)
Both (A) and (B) are wrong.

330][Question Description = S20_English Content/Pedagogy_Q150]

1317]

1318]

1319]
1320]






